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Time : 3 Hours] [Maximum Marks : 80
g : 3 Uy [qoiw : 80
Note : (i) All questions are compulsory,

(i)

Marks allotted are indicated against each question.

(iif) Each question from question No. 1 to 10 has four alternatives (A), (B), (©)

(0]
(i)
(iii)

and (D) out ofwhichoneismostappropn'atc. Choose the correct answer
among the four alternatives and write it in your answer book against the
Number of the question. No separate time is allotted for attempting multiple
choice questions.
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4  Refractive index of a medium for red and violet light are 1.52 and 1
l.54respeaivdy.lfthemgleofpﬁsmi310°,themg\ﬂudispasion(mdegrm)
will be - :

W ol AT ey & oo TRl wem & swadwis wmuer 152 ot 154 ¥
iy fyom B 100 B & (Rl #) sl fedow & W o -

(A) 0.02 (B) 020
(C) 3.06 (D) 306
S  When ;Li nuclei are bombarded by protons, the resultant nuclei are iBe. 1
Then the other emitted particle will be -
(A) alpha particles (B) beta particles
(C) gamma photons (D) neutrons

W (L0 NS W WEM & WeR e e ¥ @ Be wfomd wfte ¥ ww ¥

o e ¥) 3w e A s as o @w oo
(A) o&E FH ®) @z B0
(€) T WA (D) A

6  The graph of binding energy per nucleon as a function of atomic mass number 1
has a sharp peak for helium nucleus. This implies that helium -
(A) can easily be broken up.
(B) 1s more stable than its neighbouring nuclei.
(C) can be used as a fissionable matenal
(D) is radicactive.
wiEfE g - Sl & o ¥ dEn & and Ae we o ey e
it & wa UF e §id g ¥ aw gt @ F fifwm -
(A) =1 wa § g w s 6
(B) & H-UIN & TiHe ¥ W@ wWE ¥
(C) @ swum faweim wd & = ¥ fem W wew ¥
(D) agiEa of &)
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7 Thepmmofdehbemeadtﬁﬁonofdesimbleimpuﬁtyinaqzresemkonduaor 1
soaszoirmseiuconduc&vityisca"eddoping.wmchoftbefoﬂowing
dopamsisapentavalemdonor?
mumimmmtmmwmmm
mﬂrmmtwhiﬂqmmﬁmﬁ#ﬁm—mﬁmmt? i

(A) As (B) Al
© B ®) In

8 A!absolutewo.Siaasas- 1
(A) Conductor (B) Semiconductor |
(C) Insulator (D) Plasma :
LT AT W, Si waww wwam b -
(A) uws & o (B) wduwe & ave 1
©) fgaid &t T D) @ & A

9 lnﬂiefoﬂowingﬁgneswfﬁchdiodeisreversebiased? 1
ﬁi&qw&a’fi‘éwmmt?
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+5V =12 Vi

(C) (D)
+10V -5V
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10 Zener diode is - 1
(A) a heavily doped p-n junction diode %
(B) a lightly doped p-n junction diode
(C) a moderately doped p-n junction diode
(D) not a p-n junction diode
WY EEE -
(A) us safus i@ pn §fy TR ¥
(B) TH = U@ p-n Wi =wmiE ¥
(C) um wtgw utif@ p-n @y = ¥
(D) p-n @ sEs T w1

11 Explain, how does Newton's second law of motion lead to concept of 2
inertial mass.
ey % e & TRy ¥ gEy Paw @ wsc aeEE @ g @ gER
g ¥ 7

12 A block of metal weighing 2 kg is resting on a friction-less plane, It is struck 2
by a jet releasing water at the rate of 1kgs™! and at speed of Sms™!
Calculate the initial acceleration of the block.
2kg FENFA F UH 9 B [H U odwid wHad 9T T@ gen ¥ W
WAd H T W0 A WK e oW ¥ S us URT ¥ lkgs! W W W
Sms! W oUW ¥ fagw @R ¥ E F wife @ w1 wiweR St

13 Write two factors affecting viscosity. Which one is more viscous, pure water or 2
saline water 7 Justify.

@A B U H 99 @ BN FORTl IF W A @ aw ¥ few @
wF afys ¥ 7 @men sl
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14  When the system is taken from initial state i to final state f along the path iaf, 2
it is found that Q=50 cal and W= 20 cal, If along the path ibf, O =36 cal, '
find the value of W along ibf. iR
gﬁiﬁsnmhsmt&mmWfaﬁwwtmmam n
¥ @ wv wm wen ¥ B Q=50 &wd ¥ o w=20 &0 ¥) ARk v |
:ytugﬁuo-ssﬁﬁﬁﬁm;t«g&awwmmﬁhm

Fig.

15 Whuremﬁomrywnm?wmeﬂwoondiﬁonfonhefmnuﬁonofthuewava. 2
Wisthephasediﬁ'mbetweenpuﬁdesbeinsonehhusideofanode?
amwmﬁat?naﬁﬂﬁﬁhtmmmmﬂmmm
mtmmmmsmmmmu

16 Drw(heckwhd@unforthemeammmﬁofﬁﬁamlmisunceofaoeﬂ 2
using & potentiometer. Write the formula used.
MwWﬂMﬁummmﬂﬂmmﬁtmm
sivg T @ WgE B AW g @ fafen)
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17 A 60W, 220V lamp is connected to 220 V electric supply, pramy &2
calculate (i) energy consumed by it in one day and (ii) current flowing through it.
Podt T GOW, 220V @1 wm AW 220V F g wem ¥ ww ¥
) T@% T wi R wd B e oW, i) 95 o ¥ @ vl B @
ar & TRwe A 3R

18 What is Raman effect ? Give a simple explanation of this effect. 2
TF UN™E T % 7 3@ WA @ 9 @ i)

19 Two lines A and B shown in graph plot the de Broglie wave length () 'as a 2

function of 1/\Ji*. (V the accelerating potential) for two particles having the

same charge Which of the two represents the particle of larger mass ?
Justify your answer.

e § z9fE T Y@ A ud B, @AW ondwiga & w9 ¥ f-re aeRedl (1)
F /7 & wET & w9 F 9N T o ¥, (T K e Pom Y @ el
¥ o wawm ofus ¥ 7 sen A
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Fig.
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20 A ball moving with a momentum of 15 kg ms™’ strikes against a wall at an 4
~ angle of 30° and is reflected with the same momentum at the same angle.
Calculate the impulse. X
15kgms™! & w3 ¥ fie uw Wz el dram & 300 w1 w1 T gw zmTd
¥ ool 3@ & Bv o I & A @ soalia @ o ¥ s e @ aiwe

Lais udl

21 What is hydrostatic pressure ? Give its S.I. unit. Obtain an expression for 4
hydrostatic pressure at a point inside a liquid with the help of a diagram,
show that pressure in a liquid at a given depth is equal irrespective of shape
of vessel.
Tl T A T ottty B ¥ 7 3% S0 9 wEnRUl 3 ¥ o el
fig v e T & T =oos o= A oE e @ geem @ qaiEy
ol Ry T xw ¥ us Fram mewd W oA w1 T wE A R oA une @)
sy & @ w7 W

22 State first law of thermodynamics Write it mathematically. Using this law, 4
find the expression for work done during isochoric change. Write two limitations
of first law of thermodynamics.

Femeel & wom fram @ s fefag) e e @ s § e fif
fra &1 T s SR TR % A fee Ty o % Ry s w
Hf | FEmid & goy Praw @ @ dend fafag)

23  What is the effect of temperature on velocity of sound ? Find the temperature 4 '
at which sound travels in hydrogen with the same velocity as in oxygen at
1000°C, Density of oxygen is 16 times that of hydrogen.
S F T T A B F AN A F 7 9% aW o S e 1T At Egee
¥ 3 A F T B ¢ Pl g sfeiem ¥ 10000C T T B § s

F O FEEWA & 99 @ 16 [ ¥
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24 An ac. source of voltage V=V, sin ot is applied across a pure inductor of 4
inductance L. Obtain an expression for current i, flowing in the circuit
Drawthc(i)phasordiagmmand(ii)mphofl’andii’s ot.

What is inductive reactance ?
afwmhnsinmtmw&c.v}aLm%mmisﬂrﬁtﬂum
ﬂm%wﬂwﬁmmi%&qmmmql(iﬁmmm
G) Vot i % mtuﬁwmmmmmmmﬁmt ?
OR / g
With the help of a labelled diagram, write the principle and describe the
construction and working of a moving coil galvanometer.
wﬂhaﬁuﬁm%m&&qmmm#mm
arifafly gy

25 Whatisdispersionoflig!u?meamydiagnmtoshowit.wmethecauseof 4
dispersion.Arayof!igmpassesthrougbanequﬂmemlglmprismmdlﬂmthe
ang]eofimidemeisemmltoﬂ:emgleofanergencemdmhoftbeumglesis
equal to 3/4% of angle of prism. Find angle of deviation.

Y & i  w osftmrg & P T Wi ¥ e ur omte wa
Tif@T B IRy Rt
ummﬁﬁmmﬂa%ﬂwﬁwmmtft
mm%m%mmtwnﬁémm&wmm
3/4ﬁmtlﬁumshwmmlﬁﬂm

. 26 Using Bohr's postulates, derive an expression for the radius of permitted orbits 4
in hydrogen atom. Also obtain an expression forthetotalmugyofelectronin
then"‘stateofatomWhatdon!henegaﬁvevalueofmagysignify?

'm%mmmmm,mm#mmmﬁm%
mwwﬁmnmﬁmﬂmﬂxﬂﬁhdmmﬁtmw
mwaﬁmlmﬁmmmmmt ?
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27 A body of mass 10 kg is moving initially with a speed of 4 ms™'. A force of 6

30N is applied on the body for 2 seconds in the direction of motion.
Calwlate(a)ﬁnalspwdofthebodydistmcovemdandwod(dbneby-itin
2 seconds. (b) What is the (i) initial and (i) final kinetic energy of the body ?
Find the relation between work done and change of kinetic energy.
10 kg 7= F 0 ffs ams! & Wit A & i ¥ oo W W ION @
w5 aW 2s 9% M A R F wwan wer ¥ (@) 2s ¥ R & oftm &, afew
7, ok @ T B g e w1 wRww B ©) oA ) s
(i) offtm TR S Peadt-Reeeh ¥ 7 for e wd oi v s § aiEd
% 4 wEw @ g

28 State Coulomb's law in electrostatics. Write this Jaw in vector form. Give the 6
impomnceofexprminghinthisfonn.%mismmbypmrﬁtﬁﬁtyofa
medium ? Define dielectric constant in terms of force between charges.

Three point charges —, +g and +q are placed at the vertices 4, B and C respectively
of right angle triangle as shown in the figure. If 4B = AC, what is the magnitude
and direction of the force exerted on —g ?

firge @Rl & ger P @1 oo awe) @ P et ahe w0 A fafi @
@ 0§ fred @ v gowg) ARl wem @ Rgadew & w@ oo @7
T B A & 4w el B we F wfenfve A

A e & @ g ol wwie oER uF wem Bge & A el w
& ¥ AB = AC | - ¥RV W SRite @ & o o R owm ¥ 7

B 4q
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Define electric potential at a point. Define its S.1. unit. Derive an expression for
the electric potential at a distance 7 from a point charge ¢. Write down the expression
for the potential at a point due to a system of charges. A test charge ¢, is moved
without acceleration from the point 4 to B along the path A — € — B as shown.
Calculate the potential difference between A and B.

ﬁ@hﬁ%ﬁgﬂﬁgﬁﬁmﬂmmvmsl IS AAEY
mwmwumhmqﬁrmwmmasmm
w%n@ﬁtw%mﬁhwwmm‘mn
ummqo.MMm%hA%Baw«A-»C»Bt
mﬁ&uimﬁﬁi,hﬁ:hﬁﬁummhﬁgnqaatﬁum
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Fig.

29  Distinguish between a wavefront and a ray of light. State the assumptions of 6
Huygen's principle. With the help of diagrams explain the construction of
(i) plane and (i) circular wavefronts, A and B are two points on a water surface
where waves are generated. What is the phase difference if (a) 4 and B are on the
same wavefront but separated in distance by wavelength 4 (b) If 4 and B are on

successive crests, but linearly separated by distance 2.5 4 7

mtmﬁhﬁﬁhﬂﬁqumﬁwﬂwmﬁmlwm
ﬁmé(i)m(ﬁ)mm#mﬁmml
Awsmtwwtéﬁﬂgtwdﬁmﬁmtlmﬁm«T
tﬁum—amﬁﬁmt,vﬁ(a)AaﬂTBmmmmztm
@ w #, () A T B 3 w4 W ¥ Py o @ gh 25 4 W
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30 What is a transistor ? Draw a circuit diagram for an n-p-n transistor in common 6
emitter configuration to study its (i) input and (i) output characteristics..
Draw approximate shapes of these curves and give their important features.
How will you use characteristics to obtain (i) input resistance (ii) output
admittance ?
Zitwer w1 # ¥ 7 n-pn zifwet @ swaPre saels aftfae § @R gg
% () Prash (i) Frin oftweet ¥ sere $ g ofrw st TR 5 wst
# ghme amphal wigyl () Pad wRy () Prfn sfeeem mw s F
e oM T sftmEeT B SwE R wETR w7 '
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Time : 3 Hours] [Maximum Marks : 80
TE ;3 AR ) (s : 80
Note : (i) This Question Paper consists of two Sections, viz, 'A' and 'B'

(ii)
(iii)

(iv)
v)

@
(i)

(iii)

(iv)
)

All questions from Section 'A' are to be attempted. However, in some
questions, internal choice has been given,

Section "B' has two options. Candidates are required to attempt questions from
one option only.

Draw neat, clean and labelled diagrams, wherever necessary.
Use log tables, if needed.

WA T H A aw ¥ - gw 7 gmo@w w |

e A F owd v B o wen § | 3B 95 & ol e fig
¥

T2 T H q g ¥ | vhefiat # daw v Rew & & ue ¥ s
=

mmﬁ.m,mmmmﬂuml
ﬁmﬂ,dwwﬁnmﬁaﬁms@n&mmmtl
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SECTION - A
a9 -

1 Agasﬁﬂsacomain«ofanysizehxtaﬁmﬁddmnot.why? 1
ﬁﬁh,%ﬁmtmdwmmt:ﬁanﬁmaﬂm
| wHel v fafed)

2 Namcthetypeofe.m: waves used in aircraft navigation by radars. 1
TR TR agaF-gae ¥ vgew fagmgmem i & oam R

3 Whatisthespeedoflighlinamediumwhoseaitieejanglewithrespectto 1
air is 30° ?
TS AN H G A & whe 30° %) 55 wmem F yew @ aw Peadt B 2

4 Thegraphshownintheﬁgurerepresmtsaplotofcmrecnversusvoltage 1
for a given semiconductor. Identify the region, if any, over which the
semiconductor has a negative resistance.

s e et anfars % fed, Rgaaro @ afeea % 49 me @ Rrefa s
@) ¥ e ¥ o 2w g D, w6 W adews @ sy s
t @ o ow P (TrEm) @R

>
—

T B
ig ¢
5 C
Es
(&)
0™ Voltage (V) —>
atezat (V)
Fig.
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10

1

Write Einstein's photoelectric equation. Mention any two characteristic 2
properties of photons on which this equation is based. e

TR — vEnagd - @imm B e o v ¥ o @ Rt

a6 & IeE B fm woas s smafa

In the circuit shown in the figure, identify the equivalent gate. Draw its logical 2
symbol and write its truth. table

atE ¥ il ™ ofwr ¥ wige e W wew w0 sge W el

TE TS U WS A I IR ZEa

A T
X
>
Y2
Fig.
What is vector quantity ? How is it represented 2 When are the two 4

collinear vectors known as (i) parallel, and (i) antiparallel ?

Calwlatethe(i)crossand(ﬁ)dotpmduaoftwovectm(3?—4}] wd

(-2 i-6 })

ol sy ofer @ =0 aed ¥ 7 st e wer Prefva B owa ¥ 7 @ @
Ry #4 () TR a9 9 (i) Wraaiar geow £ 7

4

< il (3 ?-4?) am [-2 ?—6?] 1 (i) wfew ToFTe A (i) AR o
WA B

OR / =@
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13

14

Find (i) the time of flight, (ii) horizontal range and (ii) maximum height attained,
when a projectile is projected with a velocity 'V making an angle @ with the
horizontal. At what point in the trajectory does a projectile have its (i} minimum
speed and (i) maximum speed ?

TF U8 v 9 EW, W ¥ ¢ B w wkfe Bw owe ¥ wd

(i) sssg-ow (i) few W Fw (i) we sfmew Sud s @i
wiw vy & fee R o Rl wdw @ ww () gTEw @ (i) oftmed
e & 2

In a hydroelectric power generator station, 1000 * 10* kg of water falls through 4
a height of 51 m in one second to turn turbine blades and generates electric power.
(i) Calculate the work done by falling water and (ii) How much power can be
generated under ideal conditions ? (g= 9.8 ms™).

fodt smfage sfdm s Rem &, ofy %= 1000 < 10° kg w& 51 @7 &
Far ¥ zrEnt W fran ¥ oft Rrge o s me &, &, () B ogmoww

T e W B @ wfwew B () W are iRl & eiefa feeh

o 1 ST B §Ha % 7 (g~ 9.8 ms?),

A solid cylinder of mass 'M' and radius 'R’ is rolling down an inclined plane. 4
Find what fraction of its total kinetic energy is translational Calculate the
magnitude of its linear velocity after falling through a height ',

M =R @@ R e @1 o o fafer, @G 9@ e w AR B g
1 &) v AR R @ @ o he S @ e w9 el w ¥ Rl

% 1 FuE @ P & ouvad e wWE A # wRaes @)

What are elastomers ? How does this property arise ? Explain with the help of 4
a graph, how the stress - strain curve for rubber is different from that of a
metallic wire. What is the phenomenon of elastic hysteresis 7 What is one
application of it ?

RN (awes) § w0 oo wa ¢ 7 9% e &9 3= s ¥ 7
u% UE A eEa ¥ we At fs, wr @ vhee gl o og F R S
it - gl am A Bw vER P g ¥ P vmne M et T ren o
Iud w s B
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1S A wave travelling along a string is described by, ¥(x, 1) = 0.005 sin (80.0x~3.0¢), 4

16

17

18

in which all numerical constants are in S.I. units. Calculate - (‘a) the amplitude,
(b) wave length (c) period and (d) frequency of the wave Also calculate the
displacement of the wave at a distance r= 30cm and at time = 20s

fodt &rft 4w w 1'{ % qOT B TE, y(x, 1) = 0.005 sin {80.0x-304),
T s B s ) o el aies Revis ST (oo CIECTIE I T

w&mm:m%mmmmm@mm@mﬁn
I 1=20s T gl x=30cm W T ¥ Pram @ sRweT S

Show graphically the variation in V (voltage) and 1 (current) with time, 242=4

when an a.c. source is connected to a capacitor. Define the term 'capacitive
reactance’ and obtain an expression for it in terms of the capacitance of the
capacitor. How does it vary with frequency of the ac. ? Show graphically,
What is its S.I unit?

el wefs 51 e ac, cq.@h.)mémwhmtmvmm)m

I (faga am) ¥ oftedw (Reaet) @t o 1% 2T TwiER ) ‘e wRver @ e
m«ammﬁammmﬂammwmmmm. ()
% omafa & Wy T w gREdT wm b 7% & ZwiEd | e S1 (W)
e el

Draw a ray diagram showing the image formation by a compound microscope,
at the near point of eye Define its (i) magnifying power and

(i) resolving power (R.P). Write two factors by which RP. of a microscope
can be increased.
ﬁgmqm:ﬁmhtﬁmﬁ%wmmmwﬁtmw&m
mm-m(a)mmm(ﬁ)mmﬁmmnw
A FE F TG A A g B R 5a ¥ gfe # W w%)

r
Explain the formation of depletion region in a p-n junction diode. How does the 4
width of this region change, when the junction is (i) forward biased, (ii) reverse
biased ? Draw the circuit diagram of a full wave rectifier
T, (p-n) &l wrde F o dm H@ v & 7w it W@ % () smerftra
(mm)m(d)m&w@uﬁﬁmm)ﬂﬁ%whﬁm
TRy v ¥ 7 g q Rewd w1 wRog s e |
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19 (a) Smethefacmtsonwlichﬂtemeoftransfaof‘bwfmmthehotto 5
the cold face of a conductor rod depends. Hence, define the term
‘coefficient of thermal conductivity’, Write its S.I. unit. 4

(b) Water is boiled in a rectangular steel pot of thickness 2 cm by constant
tunpemurcﬁmme.buetovapoﬁsaﬁon,waterlevelfausmasteadyrmof
lcmin9nu'mnes‘Calmlatelempaauue of the furnace.

(Thermal conductivity of steel = 0.2 cal s~ C!, 1cal=421J, Latent heat of
water = 540 cal per gram).

(a) MWw%nﬁﬂﬁ%a‘%mam%mﬁnmw
ot Frde s & Pt S, Tu T SN wrmar qvis @) R
B FEE S1 (ve.am.) wrEe faiad

(b) @atqwmmuﬁﬁm‘zm%uwﬁﬁmmﬁw@
wm,sﬁﬂmm%wﬁt%am%émmtm
mim&mmm9(=ﬁ)ﬂmiﬂana?rﬁmnéﬁnmmtl
w2 % TN W wfwea R

(B & T wwEN TE = 02 cal 5! Cl, v () ¥ s @
Ml = 540 cal per gram U cal 42 J F gw ¥)

20 thtisadielectﬁc?Descn’beMotypesofdidectﬁcswithmamplm 5

Describe the effect on a non-polar dielectric when held in an electric field and
hence, explain in detail how the capacitance of a parallel plate air capacitor is
affected when dielectric material is introduced between its plates. Draw relevant
diagram.
RS v ¥ w owed ! e Wb 3 wa & vodga wodl @ Ay
B o B 5 Rt s Tdew v @ R A A e @ sw T
1 UNE g ¥ ? 569, Premgdes we R &, dufe @ @ 9 3 4
i(wﬁgawﬁwﬁiﬁmﬂsaﬁmﬁmwmmm%lmm
TR |
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21 (a) Statememderlyingprincipleoftheworkingofamovingcoilgalvanometer.sl
Whycan'taylvanometerbeusedtomeawec\mninagimelemic
circuit ? :

(b) Withthcbelpofnecesmycalaﬂaﬁons,showtnwhcanbeéonvutbdiuo
a voltmeter of a given range.

(c) Whnismcambyamemsmsiﬁvityofagalvmmaer?ﬂowcanitbe
increased 7 Mention any two ways.

(a) o g ared Pew Rear ot safa ¥ 7 Ow-GSel- YR B IE,
frge wRwdt ¥ Prgw oo ¥ owe & R w9 ww ¢

(b) s el & gemn @ we B 5, e e fives o &
Hienier A PFe v wuria e W wma ¥ 7

() B Aedeinier & oot § w0 aeed ¥ 7 @ few v wm
wEa ¥ 7 Bl 3w B T i | '

OR / 391

What is meant by ‘internal resistance of a cell' ? State any two factors on which

it depends. State the principle of working of a potentiometer. Describe, briefly with

tbehelpofacirwitdiagram.bowi:nemalmistmceofapﬁmuycellbeduemined

by it ? Deduce the formula used.

Bt & & o Ry @ @ awd ¥ 7 3 B e WO PR s 2

Mﬁms@ui’t&hﬁwﬁtmﬁwﬁﬁm&rmmﬂﬁﬁlwm

e 4 wEE & daw ¥ wvia difm f Rved @ R webe &9 W

s wRdy By e few W wea ¥ 7 GEEe @ B L e

22 (a) Draw a well labelled plot of potential energy of a pair of nucleons 2+3=5
asaﬁmctionoftheirseparationMarktheregionswherenuclearforccis
(i) attractive and (i) repulsive. Write any two characteristics of nuclear forces.

(b) Thegfoundstateenergyof‘hydrogenatomis—n.6ev. If the electron makes
a transition from a energy level 085 eV to 3.4V, To which series of
hydrogenspecﬂumdmtheanittedwavdcngmsbebng?

@ i % e gm @ Refw o, o 4w @ gl W AR Prfe
t,m%tﬁwmmlmﬁﬁmﬂmww!
mﬁ)amht(ii)uf&dwhq&amﬁ(amﬁn)wﬁtﬁm&m
& Tewd B |

(b) TR ] B P S 136 oV ¥1 A @ W T @
0.85 ¢V & Tl WY 3.4 eV A% W T ¥ A, e aore (@l
Yans) B sEEeT Ragw @ few A ¥ ton W wwA ¥ 7
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SECTION - B

s -3

OPTION - 1
fawe - 1

(Electronics and Communication Systems)
(it Td Fam =wEn)

23 Name the type of communication used for frequencies above 30 MHz, 1
30 MHz & aftrs o omgRdt & waon & Bl gz dare fafy @ wm fefe

24 Why is it not practical to transmit low frequency signals to long distances ? 2
State two reasons.

e amgfa ¥ d@dat (Reeell) @ Pome it o @it s aaefs
o T s ? & wRe fafed)

25 What is an inverter ? With the help of a block diagram of an inverter, 4
explain its working. How is its output different from a normal output of mains ?
What regular check up is necessary for its better upkeep ?

9 (vdlus) w1 @ ¥ 7 udiow F s wie anw $ grEa 4 el e
YUt &1 qvi i | e Frin g9 & wen frin @ fea yer e e ¥ 7
HH TIgE @ F R W wEwe e g ?

26 Describe the construction of an optical fibre with the help of a well labelled 5
diagram and show how a ray gets guided through it ?

UE AW AW B WA d wH-ag B G4 H v B o
zoied % so@ wee w1 o &d g ¥ 7
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25

OPTION - 11
e - 11

(Photography and Audio-Videography)

mwm-am

Nameanimponunuseofphotogaphyinseienﬁﬁcmwcb.
mm#mtwmmmmm:

Explaintbelem‘diaorﬁodasappﬁedwamalens
Describe its various types.

~ab

-1

Describe the steps involved in Audio/“deogmpby recording and reproduction. 5

Whydoa:sacolorcameralnvefowadioonmb«?




